2RFERFHEZD 3

20244 A3 H

(1) —722—2+5=0

(2) 222 +62+4=0

(3) —bx?2 —Tx+1=0

(4) 22 -2 —-1=0

(5) —T2*+5x+2=0



2XTERGTEZD 3 20244 H3H

(6) 622 -5z —6=0

(7) —bz? —8x+9=0

(8) 722+ 9z +1=0

(9) 22 -122-13=0

(10) 622 +6x—9=0



2RFERFHEZD 3

20244 A3 H

(11) 3224+ 92 +6 =0

(12) 222+ Tx +2 =10

(13) 1022 +3z—-1=0

(14) 322 - 92 +4=0

(15) 22 +92+8 =0



2RFERFHEZD 3

20244 A3 H

(16) =522 —7x+5=0

(17) 32 =62 —9=0

(18) 322 — 92 —2=0

(19) 2> 4+2—-1=0

(20) 222 —4x —24=0



2XTERGTEZD 3 20244 H3H

(1) —722—2+5=0

—1++/141

= 14

(2) 22%2 +62+4=0
r=1, 2

(3) —bx? —Tx+1=0

7469
10

(4) 22 -2 —-1=0
=142

(5) =722 +52+2=0
)

7

r=1, —



2XTERGTEZD 3 20244 H3H

6) 622 —52—6=0
(
_2 3

372

(7) =522 —8x+9=0
—4++/61
=

O

(8) 722+ 9z +1=0

—9++/53

SV

(9) 22 —122 - 13 =0
r=13, —1

(10) 622 +6x—9=0

_ —1EVT
T2



2XTERGTEZD 3 20244 H3H

(11) 3224+ 92 +6 =0
r=—-1, -2

(12) 222 +72+2=0

-7+ +33
- 4

(13) 1022 +3z—1=0
2 1

T =,
5 2

(14) 322 - 92 +4=0
—9++/129
6

xTr =

(15) 22 +92+8 =0
r=-—1 -8



2XTERGTEZD 3 20244 H3H

(16) =522 —7x+5=0

—7++/149

= 10

(17) 322 — 62 —9 =0
r=3, —1

(18) 322 — 92 —2=0

v 9 + 105
T 6

(19) 22 4+2—-1=0
_ —1+V5

(20) 222 —4x —24=0
r=1++13



